No.?

IBH LEARR B#E BE () RER
118 45,000 13,500
2~5 & 60,000 18,000
=00 - MR EEE
6~9 & 84,000 25,200
10 B E 105,000 31,500
rEEE
1 1l 15,000 4,500
£
2~5 & 20,000 6,000
AR R VE X
6~9 1@ 25,000 7,500
10 B E 30,000 9,000
Hiad o 18] 124,000 37,200
TESE
BHERE HWch D IRE] 246,000 73,800
8T HRIE T 1[e] 16,500 —
BEABTREFEE |13 38,500 —
Rt
wramrEs QFH) |1 FFER 16,500 —
RAERE T BhAR 1] 5,500 —
FTRERR 1] 75,000 22,500
ARG - BARAT 18] 120,000 36,000
M TYRMNYTFT
. 1] 10,000 3,000
(L—%—)
e7nrBEREER | 1H 10,000 3,000
118 50,000 —
2~5 & 70,000 —
0T BRI Tk
6~9 & 102,000 —
IR ARG
10 B E 130,000 —
IFEERER 1FF) | 1 FMEER 35,000 —
ERAGHE - ORT iR 1[e] 33,000 —




